NOTES:
1. THIS IS A ULTRA- HIGH VACUUM ASSEMBLY (UHV)
2. HANDLING: THE COMPONENTS SHALL BE HANDLED WITH

D WHITE SILK GLOVES AND WRAPPED WITH ALUMINUM FOIL TYPE

DRY ANNEAL AND UNDER CLEAN ROOM CONDITIONS

3. DIMENSIONS IN [ ] ARE MILLIMETERS AND
FOR REF. ONLY

¢ VU !
1.221[31.01]
TRAVEL UP

12

19

| 1.221 [31.01]
TRAVEL UP

17

18

13

14

15

16

20

10

11

N/

REF. SOURCE

MICRO SWITCH
HONEYWELL INC.

11 WEST SPRING STREET
FREEPORT, IL 61032

TEL: 1-800-537-6945

O

SecTioN A - A

20 148 1.D. X .031 THK. LOCK WASHER ssT 8
19 281 1.D. X .065 THK. PLAIN WASHER ssT 4
18 #8 - 32 UNC HEX NUT ssT 4
17 #8 - 32 X 5/8" LG. HEX HD. SCREW ssT 4
16 #6 - 32 UNC HEX NUT ssT 8
15 #6 - 32 X 1 1/2" LG. HEX HD. SCREW ssT 8
14 | Bz-2RQ24-A2 LIMIT SWITCH 4
13 | 3pa1 LIMIT SWITCH ENCLOSURE 4
12 1/4 - 20 X 3/4" LG. SOC. HD. SCREW SST/SILVERPLATED | 4
11 455 1.D. X .109 THK LOCK WASHER ssT 2
10 #10 - 32 X 1/4" LG. BRASS TIP SET SCREW SST/BRASS 2
9 262 1.D. X .062 THK LOCK WASHER ssT 6
8 1/4 - 20 UNC HEX NUT ssT 2
7 1/4 - 20 X 1 1/8" LG. SOC. HD. SCREW ssT 2
6 | A3-880006 A3-88 ALLEN KEY STEEL 1
5 | As-880005 A3-88 BELLOWS FLANGE ASSEMBLY ssT 1
4 | A3-880004 A3-88 AIR CYLINDER 1
3 | Asssoo03 A3-88 INDICATOR ARM ssT 1
2 | Asss0002 A3-88 FASTENING NUT SS/SILVERPLATED 2
1 | As-ss0001 A3-88 SWITCH MOUNTING BRACKET ALUMINUM 1
A3880000-00
otions
0033 _ [muscia 5/8/97 |D. shu 6/6/97
J. CHANG 5/20/99 T.M. Kuzay 6/9/97 A3-88

CHANG/MUSCIA 5/8/97

J. CHANG 5/20/9

LLIGHT LOAD PNEUMATIC
31mm - 6" LINEAR ACTUATOR

ASSEMBLY

SEE PARTS LIST

HALF

11

A3-880000-00




